
John Deere > Agriculture >FRONT LOADER >120R - FRONT LOADER >120R Front Loader (Worldwide Edition) (PC6158) >510 Mounting Frames, Toolbox 
Bracket, Fenders, Hood Guards >Mounting Frame for 1 Series Tractor - ST901453

Copyright © 2020 Deere & Company. All Rights Reserved.74



John Deere > Agriculture >FRONT LOADER >120R - FRONT LOADER >120R Front Loader (Worldwide Edition) (PC6158) >510 Mounting Frames, Toolbox Bracket, Fenders, Hood Guards >Mounting Frame for 1 Series Tractor - 
ST901453

KEY PART NO. PART NAME QTY REMARKS

1 ALD10025 Frame 1

2 19M8485 Cap Screw 6 M16 X 90

3 24M7053 Washer 18 17 X 30 X 3 mm

4 W53992 Frame 2

5 W54389 Frame 2 Upright

6 W54412 Bolt 12 M16 X 60

7 14M7276 Nut 12 M16

Copyright © 2020 Deere & Company. All Rights Reserved.75


	ST901453 - Mounting Frame for 1 Series Tractor

